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Question ID:- 17
Whao was the chief luminary and philosopher of the Trika philosophical

system of India 7

Options:-

«Adi Shankaracharya, Option ID :- 65,
« Ramanujacharya, Option ID :- 66,

« Abhinavgupta, Option ID :- 67,

: Buddha, Option ID :- 68,
Answer Given:- Buddha, Option ID : -68
Correct Answer :- Abhinavgupta Option ID :- 67

Question ID:- 121
Caleulate the mean of the first ten even natural numbers .

Options:-

211, Option ID :- 481,
« 10, Option ID :- 482,
« 20, Option 1D :- 483,

» 22, Option 1D :- 484,
Answer Given:- 11, Option ID : -481
Correct Answer :- 11 Option ID :- 481

Question ID:- 2
The operation "HAECHI-1I°, which was seen in the news recently, was
undertaken by which institution?

Options:-

«INTERPOL, Option ID :- 5,
- MIS, Option ID :- 6,

. MOSSAD, Option ID :- 7,

» CIA, Option ID :- B,
Answer Given:- Not Attempted
Correct Answer :- INTERPOL Option ID :- 5

Question ID:- 113
In & certain code language, "TAIMAHAL' has been coded as 7949698493

MNow in the same coding language JAAL will be coded as?
Options:-
«»4389, Option ID :- 449,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

. 4992, Option 1D :- 450,
. 4993, Option 1D :- 451,

. 4923, Option 1D :- 452,

Answer Given:- 4993, Option ID : -451
Correct Answer :- 4993 Option ID :- 451

Question ID:- 37

Constitution of India, named India as :
Options:-

sHindustan, Option ID :- 145,

« Hind bhumi, Option ID :- 146,
« Aryavarta, Option ID :- 147,

« India, that is Bharat, Option ID :- 148,
Answer Given:- India, that is Bharat, Option ID : -148
Correct Answer := India, that is Bharat Option ID :- 148

Question ID:- 92
Which among the following is not a type of gland?

Options:-

«Hypothalamus, Option ID - 365,
» Tendon, Option ID :- 366,

« Pancreas, Option ID :- 367,

« Ovary, Option ID :- 368,

Answer Given:- Tendon, Option ID : -366
Correct Answaear :- Tendon Option ID :- 366
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Question ID:- 22
Mandaprayag is confluence of rivers:

Options:-

sMandakini and Bhagirathi, Option ID :- 85,
« Alaknanda and Pindar, Option ID :- B6G,

« Alaknanda and Mandakini, Option ID :- 87,

« Alaknanda and Mandakini, Option 1D :- 88,

Answer Given:- Alaknanda and Nandakini, Option ID : -87
Correct Answer :- Alaknanda and Mandakini Option ID :- 87

Question ID:- 14
Which of the following authors originally wrote Panchatantra ?

Options:-

«Ramdas, Option ID :- 53,
« Kalidas, Option ID :- 54,
« Surdas, Option ID :- 55,

s Vishnu sharma, Option ID :- 56,

Answer Given:- Kalidas, Option ID : -54
Correct Answaer :- Vishnu sharma Option ID :- 56

Question ID:- 10
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Options:-

«Andaman Sea and Straits of Malacca, Option ID :- 37,
» India & Bangladesh, Option ID :- 38,

« Bangladesh and Myanmar, Option ID :- 39,

« India & Sri Lanka, Option ID :- 40,

Answer Given:- Andaman Sea and Straits of Malacca, Option ID : -37
Correct Answer :- Andaman Sea and Straits of Malacca Option 1D :- 37

Question ID:- 71
Choose from the following given options the antonym of the word &

CONTRAST

Options:-

Variance, Option ID :- 281,

« Clash, Option ID :- 282,

« Similarity, Option ID :- 283,

« Differ, Option ID :- 284,
Answer Given:- Clash, Option ID : -282
Correct Answer :- Similarity Option ID :- 283

Question ID:- 89

Pick out the adjectives in the sentences:
i} Planning requires caraful thought.

i) Throw away the broken glass.

Options:-

planning; throw, Option ID :- 353,
« careful ; broken, Option ID :- 354,
» requires; glass, Option ID :- 355,

« thought; the, Option ID :- 356,
Answer Given:- planning; throw, Option ID : -353
Correct Answer :- careful ; broken Option ID :- 354

Question ID:- 87
The guestion given below, two statements | & 1| have been given.

Analyse and answer whether the data provided in the two statements
are sufficient to answer the question or not,

How many brothers does Rohan have?

I. Rohan's father has three children,
I1. Rohan has one sister,

Options:-

iStatement I alone is sufficient, but statement II alone is not sufficient , Option ID :-
345,

» Statement II alone is sufficient, but statement I alone is not sufficient, QOption ID :-
346,

« Data in both the statements together are not sufficient, Option ID :- 347,
» Both statement I and statement II together are needed, Option ID :- 348,
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Answer Given:- Both statement I and statement II together are needed, Option ID : -
348
Correct Answer :- Both statement I and statement II together are needed Option ID :-
348

Question ID:- 57
Which of the following vulture species of India is not listed as Critically

Endangered under IUCN red list?

Options:-

«Slandear billad Vultura, Option ID :- 225,
1 Indian vulture, Option ID ;- 226,

» Red headed Vulture, Option ID :- 227,

« Mone of these, Option ID :- 228,

Answer Given:- Not Attempted
Correct Answer :- Mone of these Option ID :- 228

Question ID:- 56
Largest saline water lake in India is which of the following ¢

Options:-

«Wular, Option ID :- 221,

« Sambhar, Option ID :- 222,

« Pulicat Lake, Option ID :- 223,

» None of these, Option ID :- 224,

Answer Given:- Sambhar, Option ID : -222
Correct Answer :- Sambhar Option ID :- 222

Question ID:- 23
The western cyclonic distrubances are brought into India by

Options:-

Easterly jet stream, Option ID :- 89,

» Westerly jet stream, Option ID :- 90,
» Rossby waves, Option ID :- 91,

« Mone of these, Option ID - 92,
Answer Given:- Easterly jet stream, Option ID : -B9
Correct Answer :- Westerly jet stream Option ID :- 90

Question ID:- 84
If the middle digit in all the numbers are removed, then which of the

following number will be minimum ?
485, 351, 517, 432, 207

Options:-

1 202, Option ID :- 333,
» 485, Option ID :- 334,
» 432, Option ID :- 335,

«» 632, Option ID :- 336,
Answer Given:- 202, Option ID : -333
Correct Answer ;- 202 Option ID :- 333

Question ID:- 86
Find the odd one out tfrom the following given options:
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Options:-

«5=>30, Option ID :- 241,
« 7=>50, Option ID :- 342,
» B=>72, Option ID :- 343,

» 9=>90, Option ID :- 344,
Answer Given:- 7=>50, Option ID : -342
Correct Answer :- 7=>50 Option ID :- 342
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Question ID:- 21
What was the another name of "CQuit India movement'

Options:-

« Khilafat Movement, Option ID :- 81,

1 August Kranti, Option ID :- 82,

» Swadeshi Movement, Option ID :- 83,

« None of these, Option ID :- B4,

Answer Given:- August Kranti, Option ID : -82
Correct Answer :- August Kranti Option ID :- 82

Question ID:- 34
Who put forward for first time the Idea of Constitulent Assembly 7

Options:-

 B.R.Ambedkar, Option ID ;- 133,

« Jawaharlal nehru, Option ID :- 134,
» M.N.Roy, Option ID :- 135,

» Gandhi, Option ID :- 136,
Answer Given:- M.N.Roy, Option ID : -135
Correct Answer :- M.N.Roy Option ID :- 135

Question ID:- 60
‘Biodiversity 15 normally in the lower latitudes as compared to the
higher latitudes’.

Options:-

«Lesser, Option ID :- 237,

» Greater, Option ID :- 238,

» Unaffected, Option ID :- 239,

« Disaster, Option ID :- 240,

Answer Given:- Greater, Option ID : -238
Correct Answer :- Greater Option ID :- 238

Question ID:- 46
MNoel Quinn is Chief Executive Officer of

Options:-

«HSBC, Option ID :- 181,

« ICICI Bank, Option ID :- 182,

« Deutsche Bank, Option ID :- 183,

« Barclays Bank, Option ID :- 184,
Answer Given:- Not Attempted
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Correct Answer :- HSBC Option ID - 181

Question ID:- 31

What is the name of avward, given bienniallty to recognize community efforts to
reduce poverty through the conservation and sustainable use of biodiversity ?

Options:-

«Abel Prize, Option ID :- 121,

» Kyoto Prize, Option ID :- 122,

» UN Public Service Award, Option ID :- 123,

« Equator Prize, Option ID :- 124,
Answer Given:- Abel Prize, Option ID : -121
Correct Answer - Equator Prize Option ID :- 124

Question ID:- 102
The letters of the word NUMEIPP are in disorder., If they are arrangad

in proper order, the name of a vegetable is formed. What is the last
letter of the word so formed?

Options:-

K, Option ID :- 405,
« M, Option ID :- 406,
» N, Option ID :- 407,

» Mone of these, Option ID :- 408,

Answer Given:- N, Option ID : -407
Correct Answer :- M Option ID :- 407

Question ID:- 74
Read the short passage given below and answer the question fom the
following options, follow according to the passage only :

The Jhelum originates in the south-eastern part of Kashmir, in a spring at
Verinag. It flows into the Wular Lake, which lies to the north, and then
into Baramula. Between Baramula and Muzaffarabad it enters a deap
gorge cut by the mver in the Pir Panjal range. It has a right bank tributary
the Kishanganga which joins it at Muzaffarabad. It follows the Indo-

Pakistan border flowing into the plains of Punjab, finally joining the
Chernab at Trirmemu.

Jhelum originates from which part of Kashmir?
Options:-

isouth-eastern, Option ID - 293,

« north, Option ID :- 294,

« south-western, Option ID :- 295,

» north-western, Option ID :- 296,
Answer Given:- south-eastern, Option ID : -293
Correct Answer :- south-eastern Option ID :- 293

Question ID:- 15
The 9th century Adi purana sanskrit poem which deals with the life of
Rishabhanatha, the first Tirthankara, is composed by

Options:-
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«Amoghavarsha, Option ID :- 57,
« Jinasena, Option ID :- 58,
« Pampa, Option ID :- 59,

« Ranna, Option ID :- 60,

Answer Given:- Not Attempted
Correct Answer :- Jinasena Option 1D :- 58
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Question ID:- 81

When a crude solid is made of mainly one substance and has some
impurities, it is purified, this process is called

Options:-

s Crystallization, Option ID :- 321,

s Purification, Option ID :- 322,

« Filtration, Option 1D :- 323,

» None of these, Option ID :- 324,

Answer Given:- Crystallization, Option ID : -321
Correct Answer :- Crystallization Option ID :- 321

Question ID:- 42
What does Part I1X of the JEK Reorganisation Act, 2019 deal with?

Options:-

«ADVOCATE-GENERAL OF UNION TERRITORY OF JAMMU AND KASHMIR, Option ID :-

165,

« AUTHORISATION OF EXPEMDITURE AND DISTRIBUTION OF REVENUES, Option ID :-

166,
. HIGH COURT, Option ID :- 167,

« SCHEDULED CASTES AND SCHEDULED TRIBES, Option ID :- 168,
Answer Given:- ADVOCATE-GENERAL OF UNION TERRITORY OF JAMMU AND KASHMIR,

Option ID : -165

Correct Answer :- ADVOCATE-GENERAL OF UNION TERRITORY OF JAMMU AND

KASHMIR Option ID :- 165

Question ID:- 32
Which trade route existed from Yemen and Oman in the Arabian
Peninsula to the Mediterranean 7

Options:-

1Spice route, Option ID :- 125,
» Tea route, Option ID :- 126,
« 5alt route, Qption ID :- 127,

« Incense route, Option ID :- 128,
Answer Given:- Spice route, Option ID : -125
Correct Answer :- Incense route Option ID :- 128

Question ID:- B5
Buses stop at a stop every 37 minutes, Itis 8:23 PM now and a bus had
stopped 15 minutes ago. Al what time will the next bus stop?

Options:-
«8:43 PM, Option ID :- 337,
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« B:34 PM , Option ID :- 338,
« B:19 PM, Option ID :- 339,

» 8:45 PM, Option ID :- 340,
Answer Given:- 8:45 PM, Option ID : -340
Correct Answer :- 8:45 PM Option 1D :- 340

Question ID:- 72
Choose the correctly spelt word among the following given options.

Options:-

« Vetirinary, Option ID :- 285,
« Veteninary, Option ID :- 286,
» Vetinary, Option 1D :- 287,

» Veterinary, Option 1D :- 288,

Answer Given:- Veterinary, Option ID : -288
Correct Answer :- Veterinary Option ID :- 288
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Question ID:- 36

form of Government is not found in any Constitution of the
world, other than Indian,

Options:-

sParliamentary, Option ID :- 141,
« Local, Option ID :- 142,

» Presidential, Option ID :- 143,

« Mone of these, Option ID :- 144,
Answer Given:- Nona of these, Option ID : -144
Correct Answer :- Local Option ID :- 142

Question ID:- 82
What is the pH of the gastric juices released during digestion?

DOptions:-

iless than 7, Option ID :- 325,

« more than 7, Option ID :- 326,
 equal to 7, Option ID - 327,

« equal to 0, Option ID :- 328,
Answer Given:- less than 7, Option ID : -325
Correct Answer :- less than 7 Option ID :- 325

Question ID:- 54

According to the Negotiable Instruments act, an Inchoate Instrument is a
document which is

Options:-

«Complete, Option ID :- 213,

» Incomplete, Option ID :- 214,
o Illegal, Option ID :- 215,

« Blank, Option ID :- 216,

Answer Given:- Not Attempted
Correct Answer - Incomplete Option ID :- 214
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Question ID:- 6
Kazakhstan's parliament renamed the Central Asian nation's capital from
Mur-Sultan. What is the name of new capital ¢

Options:-

dAlmaty, Option ID :- 21,
» Aktau, Option ID :- 22,
o Astana, Option ID :- 23,

« Taraz, Option ID :- 24,
Answer Given:- Not Attempted
Correct Answer :- Astana Option ID :- 23

Question ID:- 18

Which among the following Governor-General refused to allow Rani Lakshmi
bai's adopted son to succead to the throne after her husband died?

Options:-

:Lord Cornwallis, Option ID :- 69,
« Lord Dalhousie, Option ID :- 70,
2 Lord Canning, Option ID :- 71,

» Lord Curzon, Option ID :- 72,

Answer Given:- Lord Dalhousie, Option ID : -70
Correct Answer :- Lord Dalhousie Option ID - 70

Question ID:- 20
The 'Do or Die’ slogan is associated with which among the following
movemenis?

Options:-

1 Civil Disobedience Movement, Option ID :- 77,
« Non-Cooperation Movement, Option ID :- 78,
«» Swadeshi Movement, Option 1D :- 79,

« Quit India Movement, Option ID :- B0,
Answer Given:- Quit India Movemeant, Option ID : -80
Correct Answer :- Quit India Movement Option ID :- 80

Question ID:- 115
A number when multiplied by five times of itself give the value equal to
1445, What is the number ¢

Options:-

«14, Option ID :- 457,
» 17, Option ID :- 458,
« 21, Option ID :- 459,

» 11, Option ID :- 460,
Answer Given:- Not Attempted
Correct Answer :- 17 Option ID :- 458

Question ID:- 4D

Right to conserve distinct language falls under which fundamental right ¥

Options:-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

7

"Itigllt ul Equa“tit np
» Cultural and Educational rights, Option ID :- 158,

tion 1D :- 157,

» Right to Freedom, Option ID :- 159,

» Constitutional remedies, Option ID :- 160,

Answer Given:- Cultural and Educational rights, Option ID : -158
Correct Answer :- Cultural and Educational rights Option ID :- 158
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Options:-
 Fundamental rights, Option ID :- 153,

Question ID:- 39
Part IV in the Constitution of India describes about ;

« Fundamental duties, Option ID :- 154,
1 Directive principles of state, Option ID :- 155,

« Constitutional remedies, Option ID :- 156,
Answer Given:- Directive principles of state, Option ID : -155
Correct Answer :- Directive principles of state Option ID :- 155

Options:-
«400, Option ID :- 421,
» 300, Option ID :- 422,
« 800, Option ID :- 423,

« 700, Option ID :- 424,
Answer Given:- 300, Option ID : -422
Correct Answer ;- 300 Option ID :- 422

Question ID:- 106
Find the missing term of the series from the following given options:
200, 100, 600, f, 1200, 900, 5400, 2700, 16200

Question ID:- 91
For rusting, the presence of which among the

following is essential?
Options:-
Only oxygen , Option ID :- 361,
» Only water , Option ID :- 362,

« Both oxygen and water , Option ID :- 363,

» None of these , Option ID :- 364,
Answer Given:- Both oxygen and water , Option ID : -363
Correct Answer :- Both oxygen and water Option ID :- 363

Question ID:- 5
Cn which date the Regional Comprehensive Economic Partnership {RCEP)
agreement enter into force ¢

Options:-
215 July 2022, Option ID :- 17,

10 April 2022, Option ID :- 18,

« 13 February 2022, Option ID :- 19,

« 1 January 2022, Option ID :- 20,
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Answer Given:- Not Attempted
Correct Answer - 1 January 2022 Option ID :- 20
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Question ID:- 27
What are "lsopycnals” 7

Options:-

Surface of equal Temperature, Option ID :- 105,
» Surface of equal Pressure, Option ID :- 106,

1 Surface of equal Density, Option ID :- 107,

« Surface of equal Size, Option ID :- 108,
Answer Given:- Surface of equal Size, Option ID ; -108
Correct Answer :- Surface of equal Density Option ID :- 107

Question ID:- 118
Padma purchased 30 kg of rice at the rate of 3 17.50 per kg and another

30 kg rice at a certain rate. She mixed the two and sold the entire
guantity at the rate of 2 18.60 per kg and made 20% overall profit. At
what price per kg did she purchase the lot of another 30 kg rice ¢

Options:-

« ¥ 22.50, Option ID :- 469,
« ¥13.50, Option 1D :- 470,
» ¥ 4.50, Option ID :- 471,

. ¥ 18.50, Option 1D :- 472,

Answer Given:- Not Attempted
Correct Answer ;- ¥ 13.50 Option ID :- 470

Question ID:- 94
What is the easiest way to prevent communicable diseases as "flu'?

Options:-

«Wearing mask and gloves, Option ID :- 373,
» Washing hands frequently, Option ID :- 374,
1 Staying at home, Option ID :- 375,

« All of these, Option ID :- 376,
Answer Given:- All of these, Option ID : -376
Correct Answer :- All of these Option ID :- 376

Question ID:- 59
What is considered as the Queen of Himalayan Flowers ?

Dptions:-

«Marigold, Option ID ;- 233,

« Petunia, Option ID :- 234,

« Blue poppy, Option ID :- 235,

« Anemones , Option ID :- 236,
Answer Given:- Marigold, Option ID : -233
Correct Answer :- Blue poppy Option ID :- 235

Question ID:- 50
What is the minimum threshold to initiate insolvency proceedings under
the 1B {Insolvency and Bankruptcy Code) at present?
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Options:
«Rs. 25 lakh, Option 1D :- 197,
» Rs. 50 lakh, Option ID :- 198,
« Rs. 75 lakh, Option ID :- 199,

» Rs. 1 Crore, Option ID :- 200,
Answer Given:- Not Attempted
Correct Answer :- Rs. 1 Crore Option ID :- 200
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Question ID:- 96
Bauxite is the principal ore of which among the following?

Options:-

« Platinum , Option 1D :- 381,
2 Tin, Option ID :- 382,

» Aluminum, Option ID :- 383,

« All of these, Option ID :- 384,
Answer Given:- Aluminum, Option ID : -383
Correct Answer :- Aluminum Option ID :- 383

Question ID:- 95
Where is the image of an object is farmed in the human eye?

Options:-

«Retina, Option ID :- 377,
» Iris, Option ID :- 378,

« Pupil, Option ID - 379,

1 Mone of these, Option ID :- 380,
Answer Given:- Retina, Option ID : -377
Correct Answer :- Retina Option ID :- 377

Question ID:- 65

Which of the following is not true

1. Bio-fuel is cost effective

2, Bio-fuel is eco-friendly

3. Bio-fuel is also made from Jatropha

Options:-

«Only 1, Option ID :- 257,

« 1 and 2, Option ID :- 258,
« 2 and 3, Option ID :- 259,

' 1, 2 and 3, Option ID :- 260,
Answer Given:- Not Attempted
Correct Answer :- 2 and 3 Option ID :- 259

Question ID:- 11

Recently Indian army and DGRE successfully installed the first avalanche

monitoring radar in

Options:-

« Nainital, Option ID :- 41,
s Sikkim, Option 1D :- 42,
» Shimla, Option ID :- 43,
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« Imphal, Option ID :- 44,
Answer Given:- Sikkim, Option ID : -42
Correct Answer :- Sikkim Option ID :- 42
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Question ID:- 49
A rating agency estimated that the total loss for India due to lock-down

would be Rs 10 lakh crore or Rs 7,000 per person in 2020-217 Identify
the agency.

Options:-

«CRISIL, Option ID :- 193,

» Ind-Ra, Option ID :- 194,

s Fitch Solutions, Option ID :- 195,

» Moody’s Investors Service, Option ID :- 196,
Answer Given:- Mot Attempted
Correct Answer := CRISIL Option ID :- 193

Question ID:- 100

Choose the alternative which represents three out of the five
alternative figures which when fitted into each other would form a
complete square,

> P& s [

(s)
Options:-

-(2) (3) (4), Option 1D :- 397,

' (1) (2) (3), Option ID :- 398,

« (3) (4) (5), Option ID :- 399,

« (5) (1) (3), Option ID :- 400,
Answer Given:- Mot Attempted
Correct Answer :- (2) (3) (4) Option ID :- 397

Question ID:- 52

Under which act can a new private bank be registered?

Options:-

«Companies Act 1956, Option ID :- 205,

» Banking regulation Act 1949, Option ID :- 206,

» The Reserve Bank of India Act 1934, Option 1D :- 207,

» The Subsidiary Banks General Regulation 1959, Qption ID :- 208,

Answer Given:- Not Attempted
Correct Answer :- Companies Act 1956 Option ID :- 205

Question ID:- 66

Choose the part (8/8/C) of the given sentence that contains an errar, If
the given sentence does not contain any error, mark "Mo error” as the
answer. Ignore the punctuation error (if any):

It was a breathe of (A} / fresh air to meet (B) [ someone 50 genuine. [C) /
Mo error (D)

Options:-
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« B, Option ID :- 261,
« A, Option ID :- 262,
« D, Option ID :- 263,

 C, Option ID :- 264,
Answer Given:- Not Attempted
Correct Answer :- A Option ID :- 262
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Question ID:- 48

How many indicators are thera in Multidimensional Poverty Index (MPE?
Options:-

»5, Option ID :- 189,

« 10, Option ID :- 190,

« 15, Option ID :- 191,

« 20, Option ID :- 192,
Answer Given:- Not Attempted
Correct Answer ;- 10 Option ID :- 190

Question ID:- 62

The organism of a species that helps define an entire ecosystem is called:
Options:-

« Typological Species, Option ID :- 245,

« Microspecies, Option ID :- 246,

« Keystone species, Option ID :- 247,

» Mone of these, Option ID :- 248,
Answer Given:- Keystone species, Option ID : -247
Correct Answer :- Keystone species Option ID :- 247

Question ID:- 44
i5 also called the Father of Green Revolution in India.

Options:-

sNorman Borlaug, Option ID :- 173,

« M5 Swaminathan, Option ID :- 174,
«» Sam Pitroda, Option ID :- 175,

» Varghese Kurien, Option ID :- 176,
Answer Given:- MS Swaminathan, Option ID : -174
Correct Answer ;= M5 Swaminathan Option ID :- 174

Question ID:- 47
Which scientist has coined the term Evergreen revolution ¢

Options:-

«Sam Pitroda, Option ID :- 185,

» Vergese Kurien, Option ID :- 186,
« Norman Borlaug, Option ID :- 187,

« M.5.Swaminathan, Option ID :- 188,
Answer Given:- Vergese Kurien, Option ID : -186
Correct Answer :- M.5.Swaminathan Option ID :- 188
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Question ID:- 55
Governmeant of India and the World Bank sign USD 210 million loan agreement
for State of Agribusiness and Bural Transformation Project.

Options:-

«Punjab, Option ID :- 217,

« Kerala, Option ID :- 218,

« Haryana, Option ID :- 219,

« Maharashtra, Option ID :- 220,
Answer Given:- Punjab, Option ID : -217
Correct Answer :- Maharashtra Option ID :- 220
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Question ID:- 12
Professar Rafiqul Islam, a scholar and cultural activist who passed away
recently, was of which country?

Options:-

:« Bangladesh, Option ID :- 45,
» India, Option 1D :- 46,

« Pakistan, Option ID :- 47,

1 Turkey, Option ID :- 48,

Answer Given:- Bangladesh, Option ID : -45
Correct Answer :- Bangladesh Option ID :- 45

Question ID:- 25
The Kalbelia snake charming tribe is from which of the following Indian state#

Options:-

«Gujarat, Option ID :- 97,

« Rajasthan, Option ID :- 98,
« Orissa, Option ID :- 99,

« Chhattisgarh, Option ID :- 100,
Answer Given:- Not Attempted
Correct Answer :- Rajasthan Option ID :- 98

Question ID:- 79
Consider the following statements.

1. Ensure correct English and proofreading is done before sending the
cover letter with the resume.

2, Indicate the reference of the advertisement published for the jobin the
cover letter.

State True or False:
Options:-

i False, True, Option ID :- 313,
« False, False, Option ID :- 314,
« True, True, Option ID :- 315,

» True, False, Option ID :- 316,

Answer Given:- True, False, Option ID : -316
Correct Answer :- True, True Option ID :- 315
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Question ID:- 110
In a certain code language DECEMBER is wintten as RDEEBCME. How
will FEBRUARY be written in that code language?

Options:-
«YFREABUR, Option ID :- 437,

« YREABURE, Option 1D :- 438,
« YREFEURA, Option 1D :- 439,

» YRBAUREF, Option 1D :- 440,

Answer Given:- YFREABUR, Option ID : -437
Correct Answer :- YFREABUR Option ID :- 437

Question ID:- 7

Recently, India’s first indigenous Monkeypox RT-PCR test kit is launched.
Which private company developed this kit 7

Dptions:-

«Wipro Biomedical, Option ID :- 25,

« Dr. Reddy's Laboratories, Option ID :- 26,

» Biocon, Option 1D :- 27,

» Transasia Bio-Medicals, Option ID :- 28,
Answer Given:- Wipro Biomedical, Option ID : -25
Correct Answer :- Transasia Bio-Medicals Option ID :- 28

Question ID:- 13
The text Arthashastra was written by Kautilva. What is this text about 7

Dptions:-

vAccounts of Gupta Empire, Option ID :- 49,

« Biography of Kautilya, Option ID :- 50,

« Principles and practice of statecraft., Option ID :- 51,

» Biography of Chandragupta Maurya, Option ID :- 52,
Answer Given:- Biography of Chandragupta Maurya, Option ID : -52
Correct Answer :- Principles and practice of statecraft. Option ID :- 51

Question ID:- 97
The resolution of the printer is measured to print the image:

Options:-

«dpi, Option ID :- 385,

« dpis, Option ID :- 386,
» MIPS, Option ID :- 387,

» MICP, Option ID :- 388,

Answer Given:- dpi, Option ID : -385
Correct Answer :- dpi Option ID :- 385

Question ID:- 99

Ir WS Excel 2013, which of the following shortout is used to choose a
fill color?
Options:-

sAlt+H, H, Option ID :- 393,
« Alt+H, A, Option ID :- 394,
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« Alt+H, D, Option ID :- 395,

= Alt+H, B, Option ID :- 396,
Answer Given:- Not Attempted
Correct Answer - Alt+H, H Option ID :- 393

Question ID:- 107
Complete the analogy -

AC:BD:QS:?

Options:-

«QR, Option ID :- 425,
. UV, Option ID :- 426,
« RT, Option ID :- 427,

« TU , Option ID :- 428,
Answer Given:- RT , Option ID : -427
Correct Answer := RT Option ID :- 427
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Question ID:- 90
Which of the following vitamins is water soluble and antioxidant #

DOptions:-

«Vitamin C, Option ID :- 357,
» Vitamin B, Option ID :- 358,
« Vitamin E, Option ID :- 359,

« Vitamin K, Option ID :- 360,
Answer Given:- Vitamin C, Option ID : -357
Correct Answer :- Vitamin C Option ID :- 357

Question ID:- 61

wWhich of the following is the example of "Lentic habitat™ ?
Dptions:-

1 Ponds and river, Option ID :- 241,

« Ponds and swamps, Option ID :- 242,

« Waterfalls and river, Option ID :- 243,

» None of these, Option ID :- 244,

Answer Given:- Ponds and swamps, Option ID : -242
Correct Answer :- Ponds and swamps Option ID :- 242

Question ID:- 58
With regard to HSRP convention, match the following correcthy

(Background) (Vehicle type)

1. White A Transport

2. Yellow B. Electric

3. Green C. Non Transport
Options:-

.1-A, 2-B, 3-C, Option ID :- 229,
 1-C, 2-A, 3-B, Option ID :- 230,
» 1-A, 2-C, 3-B, Option ID :- 231,

« 1-C, 2-B, 3-A, Option ID :- 232,
Answer Given:- 1-C, 2-A, 3-B, Option ID : -230
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Correct Answer :- 1-C, 2-A, 3-B Option ID :- 230
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Question ID:- 116

In an examination, a student must score 40% marks (o pass. He gets 40
miarks and fail by 40 marks. Find the maximum number of marks.

Options:-

« 200, Option ID :- 461,
« 160, Option ID :- 462,
« 250, Option ID :- 463,

320, Option ID :- 464,

Answer Given:- 200, Option ID : -461
Correct Answaer :- 200 Option ID :- 461

Question ID:- 83
Which among the following is usually the function of output
devices?

Options:-

«Display or Print data, Option ID :- 329,

« Pointing cursor on screen , Option ID :- 330,
' Scan , Option ID :- 331,

o Input Data , Option ID :- 332,
Answer Given:- Display or Print data, Option ID : =329
Correct Answer :- Display or Print data Option ID :- 329

Question ID:- 4
Recently Indian minister inaugurated the 5th Assembly of the International
Salar Alliance, Who is the President of the 1548 Assembly 7

Dptions:-

Japan, Option ID - 13,

« India, Option ID - 14,

» France, Option ID :- 15,

« USA, Option ID :- 16,
Answer Given:- Japan, Option ID : -13
Correct Answer :- India Option ID :- 14

Question ID:- 117
In & History examination, the average for the entire class was B0 marks.
If 10% of the students scored 95 marks and 20% scored 90 marks, what

was the average marks of the remaining students of the class?
Options:-

«60, Option ID :- 465,

» 79, Option ID :- 466,

« 75, Option ID :- 467,

« 58, Option ID :- 468,
Answer Given:- Mot Attempted
Correct Answer :- 75 Option 1D :- 467

Question ID:- 68

Choose the aption which is similar in meaning [synonym) to the bald
word in the given sentence:
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He brought shame on the whole team by falsifying the results.
Options:-

«pride, Option ID :- 269,

» honor, Option ID - 270,

« exalt, Option 1D :- 271,

o disgrace, Option ID :- 272,
Answer Given:- disgrace, Option ID : -272
Correct Answer :- disgrace Option ID :- 272

Question ID:- B
Reserve Bank of India’s composite Fl-Index is

Options:-

iFinancial inflation index , Option ID :- 29,
« Fimancial investor index , Option ID :- 30,
» Fimancial inclusion index , Option 1D :- 31,

« Financial industry index , Option 1D :- 32,
Answer Given:- Not Attempted
Correct Answer :- Financial inclusion index Option ID :- 31

Question ID:- 35
Recruitment of employveas far All India Services is done by 3

Options:-

sHuman Resources and development minister, Option ID :- 137,
« Defense Minister, Option ID :- 138,

« Union Public Service Commission, Option ID :- 139,

« Mone of these, Option ID :- 140,

Answer Given:- Union Public Service Commission, Option ID : -139
Correct Answer :- Union Public Service Commission Option ID :- 139

Question ID:- 76
Select from the following given options a word which can subsitute the

given phrase ;

A person interested in reading books and nothing else,
Options:-

1Bookkeeper, Option ID :- 301,

« Atheist, Option ID :- 302,

» Bookworm, Option ID :- 303,

» Librarian, Option ID :- 304,
Answer Given:- Bookworm, Option ID : -303
Correct Answer :- Bookworm Option ID :- 303

Question ID:- 108

Find the next term of the series from the fallowing given aptions,
"11, 2, 3333, 444, 555555, ... "

Options:-
666666, Option ID :- 429,
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« 66666, Option ID :- 430,
« 66, Option ID :- 431,

. 666666666, Option ID :- 432,

Answer Given:- 66666, Option ID : -430
Correct Answer :- 66666 Option ID :- 430

Question ID:- 103
CUBAEDEDABEBAUCDBCADEDUBCACBEDA

If all the A’s are dropped from the above arrangement, which of the
following will be eleventh from the left end of the above arrangement?

Options:-

«U, Option ID :- 409,
« B, Option ID :- 410,
« C, Option ID :- 411,

: Mone of these, Option ID :- 412,
Answer Given:- U, Option ID : -409
Correct Answer :- U Option ID :- 409

Question ID:- 30

Cloud burst is related with what type of clouds ?
Options:-

Stratocumulus clouds, Option 1D :- 117,
» Cumulonimbus clouds, Option ID :- 118,
» Altocumulus clouds, Option ID - 119,

» Nimbostratus clouds, Option ID :- 120,

Answer Given:- Not Attempted
Correct Answer :- Cumulonimbus clouds Option ID :- 118

Question ID:- 28
What are called as fjords/fiords ?

Options:-

«Ridge of mountain, protruding from Glacier, Qption ID :- 109,
« Bowl-shaped depression near mountains, Option ID :- 110,

« Deep glacial troughs filled with sea water, Option ID :- 111,

« Mone of these, Option ID :- 112,
Answer Given:- Not Attempted
Correct Answar :- Deap glacial troughs filled with sea water Option ID :- 111

Question ID:- 109

which of the given venn diagrams represent the correct
mutual refationship between “Pralessionals, Judges;
Dactors” 7

@ @ 00
il (4] (3 4}

Options:-
«1, Option ID :- 433,
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« 2, Option ID :- 434,
« 3, Option ID :- 435,

» Both 1 & 3, Option ID :- 436,

Answer Given:- 1, Option ID : -433
Correct Answer :- 1 Option ID :- 433

Question ID:- 77
Fill in the blank with the appropriate conjunction from the given options
to make it a meaningful sentence:

| can'tlet youin __ you give the password.
Options:-
«unless, Option 1D :- 305,
o and, Option ID :- 3086,
« 50, Option ID :- 307,

« neither, Option 1D :- 308,
Answer Given:- unless, Option ID : -305
Correct Answer :- unless Option ID :- 305

Question ID:- 38

refers to the preface to the Constitution,
Options:-
sPreamble, Option ID :- 149,
« Article 1, Option ID :- 150,
« Part 111, Option ID :- 151,

» Article 55, Option ID :- 152,

Answer Given:- Preamble, Option ID : -149
Correct Answer :- Preamble Option ID :- 149
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Question ID:- 112
Mitali is looking towards south west, If she turns backward and then (o

her left then which direction is she facing now?
Dptions:-

«MNorth-East, Option 1D :- 445,

« north west, Option ID :- 446,

» south west, Option 1D :- 447,

» south east, Option ID :- 448,

Answer Given:- north west, Option ID : -446
Correct Answer :- north west Option ID :- 446

Question ID:- 75
Select the appropriate aption to change the voice of given sentence.

They drew a pentagon in the morming.
Options:-
«A pentagon are drawn by them in the morning., Option ID :- 297,

» A pentagon was drawn by them in the morning., Option ID :- 298,

» A pentagon drew by them in the morning, Option ID :- 299,
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« A pentagon been drawing since morning., Option ID :- 300,
Answer Given:- A pentagon was drawn by them in the morning., Option ID : -298
Correct Answer :- A pentagon was drawn by them in the morning. Option ID :- 298
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Question ID:- 104

FIND the add one out fram the following given options:
Options:-

sMango , Option ID :- 413,

« Guava, Option ID :- 414,

« Cauliflower, Option 1D :- 415,

« Litchi , Option ID :- 416,
Answer Given:- Cauliflower, Option ID : -415
Correct Answer :- Cauliflower Option ID :- 415

Question ID:- 6%
In the following question, a sentence has been split into four parts
marked P, O, R and 5 which have been jumbled up. Rearrange these parts

to make a grammatically correct and meaningful sentence,

P: you make wine by

(1 until all the sugar

R: leaving grape juice to ferment
5: has turned to alcohol

Options:-

«PQSR, Option ID :- 273,
« PRQS, Option ID :- 274,
» RQPS, Option ID :- 275,

- SPQR, Option ID :- 276,
Answer Given:- PRQS, Option 1D : -274
Correct Answer :- PRQS Option ID :- 274

Question ID:- 51

Mational Small Savings Fund torms a part of

Options:-

«Employees’ Provident Fund, Option ID :- 201,

« Public Provident Fund, Option ID :- 202,

» Prime Minister's Relief Fund, Option 1D :- 203,

» Public Account of India, Option ID :- 204,

Answer Given:- Not Attempted
Correct Answer :- Public Account of India Option ID :- 204

Question ID:- 88
When 10 person shake hands with one another, in how many possible

ways it is possible?
Options:-

«40, Option ID :- 349,
« 42, Option ID ;- 350,
« 45, Option ID :- 351,
« 52, Option ID :- 352,
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Answer Given:- 45, Option ID : -351
Correct Answaer :- 45 Option ID :- 351

Question ID:- 29
Maont Blanc, Monte Rosa and Dom are mountain peaks of which of the
followingy

Options:-

sRocky mountains, Option ID :- 113,
« Andes, Option ID :- 114,

« Alps, Option ID :- 115,

« Alaska, Option ID - 116,

Answer Given:- Not Attempted
Correct Answer :- Alps Option ID :- 115

Question ID:- 41
A& Bill is said to be passed by Houses of Parliament when ;

Options:-

«Chief justice of India agrees, Option ID :- 161,

« Council of States agrees , Option ID :- 162,

« Both Houses of Parliament agrees, Option ID - 163,

» Only House of People agrees, Option 1D :- 164,

Answer Given:- Both Houses of Parliament agrees, Option ID : -163
Correct Answer :- Both Houses of Parliament agrees Option ID :- 163

Question ID:- 26
Which of the tollowing is not correctly matched ¢

Dptions:-

«MH4 - Mumbai to Chennai, Option ID :- 101,

» MHG - Surat to Kolkata, Option ID :- 102,

» NH15 - Assam to Arunachal Pradesh, Option 1D :- 103,

» NH9 - Agra to Mumbai, Option ID :- 104,

Answer Given:- NH4 - Mumbai to Chennai, Option ID : -101
Correct Answer :- NH9 - Agra to Mumbai Option ID :- 104

Question ID:- 16
The Baburnama "History of Babur" is authored by whom among the
following?

Options:-

Abu’'l Wahid Farighi, Option ID :- 61,
« Babur, Option ID :- 62,

« Madir Samarguandi, Option ID :- 63,

» Tahir Khwandi, Option ID :- 64,

Answer Given:- Babur, Option ID : -62
Correct Answer :- Babur Option ID :- 62

Question ID:- 98
Which among the following represents XML format of MS Word?

Options:-
o.docx, Option ID :- 389,
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« JXIsx, Option ID :- 390,
« Sldx, Option ID :- 391,

s Jpotx, Option ID :- 392,
Answer Given:- Not Attempted
Correct Answer :- .docx Option ID :- 389

Question ID:- 105
In & certain code UNDER is written as 6152 and DEAF is written as 5287,
How is FRAUD written in that code?

Options:-

«7@#65 , Option ID :- 417,
« 765#5%5 , Option ID :- 418,
« S67#3% , Option ID :- 419,

. 35@7# , Option ID :- 420,
Answer Given:- 7@#65 , Option ID : -417
Correct Answer :- 7@#65 Option ID :- 417
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Question ID:- 3
What are Blue Helmets #

Options:-

«Places notified safe for Refugees, Option ID :- 9,

» Unofficial Civil Servants Organisation, Option ID :- 10,
« United Nation Peacekeepers, Option ID :- 11,

» Border Security Forces Regiment, Option ID :- 12,

Answer Given:- United Nation Peacekeepers, Option ID : -11
Correct Answer :- United Nation Peacekeapers Option ID :- 11

Question ID:- 53
Which bank's pre-paid card offering, which can be

used both online and offline, is called “Enkasu’?.
Options:-

«Karur VWysya Bank, Option ID :- 209,

» South Indian Bank, Option ID :- 210,

« Syndicate Bank, Option ID :- 211,

» Kotak Mahindra Bank, Option ID - 212,

Answer Given:- Mot Attempted
Correct Answer :- Karur Vysya Bank Option ID :- 209

Question ID:- 111

Anmal is the son of Paras. Babita is the Paras's sister, Babita has a son
Eamal and a daughter Chinki. Raghav is the maternal uncle of Kamal.
What is the relationship of Paras with Chinki and Kamal?

Options:-

» Maternal Uncle, Option ID :- 441,
« Brother, Option ID :- 442,

« Father , Option ID :- 443,

» Cousin, Option 1D :- 444,
Answer Given:- Maternal Uncle, Option ID : -441
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£ : ternal Uncle Option ID :- 441

Question ID:- 114
Directions: Study the below given line graph and answer the given
question:

Murbar ol Vehizls Maruladmed by Teo companes aver Ehe Years |Nueiber in Thausand)

What is the difference botween the number of vehicles manufactured
by Company ¥ in 1997 and 19987

Options:-

« 29000, Option ID :- 453,
« 9000, Option ID :- 454,
« 20000, Option ID :- 455,

« 19000, Option ID :- 456,
Answer Given:- 13000, Option ID : -456
Correct Answer :- 19000 Option ID :- 456

Question ID:- 45
Banks in India publish their accounts on BVery year.

Options:-

» December 31, Option ID :- 177,
« March 31, Option ID :- 178,

» June 30, Option ID :- 179,

= April 30, Option ID :- 180,
Answer Given:- March 31, Option ID : -178
Correct Answer :- March 31 Option ID :- 178

Question ID:- 63
Green Hydrogen which has no carbon footprint is produced by the
process called:

Options:-

-Pyrolysis, Option 1D :- 249,

» Gasification, Option ID :- 250,
« Electrolysis, Option ID :- 251,

s« Mone of these, Option ID :- 252,
Answer Given:- Electrolysis, Option ID : -251
Correct Answer :- Electrolysis Option 1D :- 251

Question ID:- 78
Choose the correct option:
The act of hearing is a process; whereas listening is an ___ process.

Options:-
-active ; passive, Option ID :- 309,
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simpte—-three=dimensional, Option 1D :- 310,
» teaching ; learning, Option ID :- 311,

» learning ; teaching, Option ID :- 312,

Answer Given:- active ; passive, Option ID : -309
Correct Answer :- simple ; three-dimensional Option ID :- 310

Question ID:- 8D

What are the advantages of social skills?

Options:-

«Increased Overall Happiness, Option 1D :- 317,

« More and Better Relationships, Option ID :- 318,
» Better Communication, Option ID :- 319,

« All of the above, Option ID :- 320,
Answer Given:- Better Communication, Option ID : -319
Correct Answer := All of the above Option ID :- 320

Question ID:- 67
Choose from the following options which best expresses the meaning of
bold and underined idicm/phrase in the given sentence:

Don't lose heart, there'll be plenty more chances for promotion,
Options:-

«be fair, Option ID :- 265,

« be happy, Option ID :- 266,

« to nice, Option ID :- 267,

« be discouraged, Option ID :- 268,
Answer Given:- be discouraged, Option ID : -268
Correct Answer :- be discouraged Option ID :- 268

Question ID:- 19

Whao among the following was the president over the Special Congress
Session held in 1920 at Calcutta?

Options:-

«Jawahar Lal Mehru, Option ID :- 73,

« Lala Lajpat Rai, Option ID :- 74,

» Subhash Chandra Bose, Option ID :- 75,

« Gandhi, Option ID :- 76,
Answer Given:- Subhash Chandra Bose, Option ID : -75
Correct Answer :- Lala Lajpat Rai Option ID :- 74

Question ID:- 120
If the radius and height of a cone both are increased by 10%, then the
volume of the cone is increased by:

Options:-

«33.10%, Option ID :- 477,
» 23.10%, Option ID :- 478,
» 43.10%, Option ID :- 479,
» 13.10%, Option ID :- 480,
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Question ID:- 119
A man decided to cover a distance of 6 km in 84 minutes.

He decided to cover two thirds of the distance at 4 km/hr
and the remaining at some different speed. Find the speed
after the two third distance has been covered,

Options:-

«5 kmph, Option ID :- 473,
o 2 kmph, Option ID :- 474,
s 7 kmph, Option ID :- 475,

s 9 kmph, Option ID :- 476,
Answer Given:- Not Attempted
Correct Answer :- 5 kmph Option ID :- 473

Question ID:- 24
Formation of "duars” and ‘duns’ are feature of ;

Options:-

iUndeveloped country, Option ID :- 93,
«» Mag Tibba, Option ID :- 94,

» Greater Himalayas, Option ID :- 95,

» Mone of these, Option ID :- 96,

Answer Given:- Mone of these, Option ID : -96
Correct Answer :- None of these Option ID :- 96

Question ID:- 43
Which of the following section of Part VI of the J&K

Reorganisation Act 2019, contain "Applicability of
scheduled Castes Order"?

Options:-

«60, Option ID :- 169,
« 65, Option ID :- 170,
68, Option ID :- 171,

« 58, Option 1D :- 172,

Answer Given:- Mot Attempted
Correct Answer :- 65 Option ID - 170

Question ID:- 101
How many 7s are there in the following number series which are

immediately preceded by 9 and also immediately followed by 6 7
7BOT7653428972459297647

Options:-

«One, Option 1D :- 401,

» Three, Option ID :- 402,
» Two, Option ID :- 403,

» Seven, Option ID :- 404,
Answer Given:- Two, Option ID : -403
Correct Answer :- Two Option ID :- 403
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Question ID:- 70
Fill in the blank using the appropriate word from the following given
options:

| attended the meetingon ____ of my company
Options:-

saddition, Option ID :- 277,

» according, Option ID :- 278,

« behalf, Option ID :- 279,

s between, Option ID :- 280,

Answer Given:- behalf, Option ID : -279
Correct Answer :- behalf Option ID :- 279

Question ID:- 9
Which UT received the award of ‘Best performing UT' at the Pradhan
Mantri Awas yojana-Urban{ PMAY-U) Awards 2021 ?

Options:-

«Chandigarh, Option ID :- 33,
» JBK, Option ID :- 34,

s Puducherry, Option ID :- 35,

« Delhi, Option ID :- 36,
Answer Given:- Chandigarh, Option ID : -33
Correct Answer :- J&K Option ID :- 34
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Question ID:- 33

Options:-

wGovernor, Option ID :- 129,

« Prime minister, Option ID :- 130,
s Chief Minister, Option ID - 131,

« Chief justice of India, Option ID :- 132,
Answer Given:- Governor, Option ID : -129
Correct Answer - Governor Option ID :- 129

ludges of High Court, makes and subscribes aath or affirmation before -

Question ID:- 73
Choose the correct option from the following to complete the given
sentence;

It several times already.

Dptions:-

«have happen, Option ID :- 289,

» has happened, Option ID :- 290,
« had happen, Option ID :- 291,

o has happen, Option ID :- 292,

Answer Given:- has happened, Option ID ; -290
Correct Answer :- has happened Option ID :- 290

Question ID:- 93
In Human Immunoedeficiency Virus (HIV) the genetic material is made

vurs
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Options:-

wdouble strand RNA , Option ID :- 369,
« single strand RNA, Option ID - 370,

» double strand DMNA , Option ID :- 371,

» single strand DNA , Option ID :- 372,
Answer Given:- single strand RNA, Option ID : -370
Correct Answer :- single strand RNA Option ID :- 370
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Question ID:- 64
Which of the following is not a high-GWP Green House Gas ¢

Options:-

sChlorofluorocarbons , Option ID - 253,
1 Hydrofluerocarbons , Option ID :- 254,
« Perfluorocarbons , Option ID :- 255,

» Methane , Option ID :- 256,

Answer Given:- Perfluorocarbons , Option ID : -255
Correct Answer - Methane Option ID :- 256
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